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There are 2 baskets of apples. Each basket has 7 apples in it. 
How many apples are there in total?

Total number of  basket

No. of apple in a basket

=

=

2

7

14

1)

There are 6 trees with birds. Each tree has 12 birds. How 
many birds are there in total?

2)

There are 13 coins in each jar. There are 25 jars filled with 
coins. How many coins are there in total?

3)

X

So , totally 14 apple are there.
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Sarah builds 3 towers of blocks. Each tower has 4 blocks. How 
many blocks does she use in total?

4)

There are 5 leaves with caterpillars. Each leaf has 15 
caterpillars. How many caterpillars are there in total?

5)

There are 14 fish in each tank. There are 20 tanks in the 
aquarium. How many fish are in the aquarium?

6)
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